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. (7 %) Please explain the approach of Deming wheel.

. (12 %) Please explain the following terms related to the Toyota Production

System.

(a) (4 4) Muda

(b) (4 %) Heijunka
{c) (4 4) Jidoka

. (10 %) Please answer the following questions related to MRP/ERP,

{a) (5 #) Explain the difference between “scheduled receipts” and “planned-order
receipts.” '

(b) (5 %) Explain the difference between “gross requirements” and “net
requirements.”

. (6 %) Please explain the meanings of the six codes in Muther grid.

. (15 4) The network diagram for a project is shown in the following figure, with

three time estimates for each activity. Activity times are in weeks. Pleage do
the following:
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{a} (6 %) Compute the expected time for each activity and the expected duration
foreach path. [k % it M@ » FRIAR 5]

(b) (3 ) Identify the critical path. [ %% & 2 Wiri&#2 - FRI K5 ]

(c) (6 %) Compute the variance of each activity and the variance of each path.

(% di st Mikaz - FRIARH 4]
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6. (10 %) HEAEELHRBASBANE -2 RAHF ARG TE
BATT? WA kuneRERAL -

7, (10 %) P Rof 2 @l ¥ T4 AN BITHE 4 4 § & X (Re-order
point) & B & ¥ il # § & X (Fixed period) ? #fiLsE 2z -

8. (10 ) #4545 Apple 2+ )2 iPhone A Lz % ¥ ? [H XA EAE
Bz RE2H 5 oiTHEE - MBERSRE > HRHA]

9, (104) WAL SKARKELEALAR LERNHERT

10. (10 %) ##.9 CPFR of7i&45 ?
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